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QUESTION 1

You are designing an IP fabric using EBGP.

In this scenario, what are two ways of designing the ASN scheme for the IP fabric? (Choose two.)
A. Assign the same ASN to all devices.

B. Assign the ASN to all leaf devices and a separate ASN to all spine devices.

C. Assign a unique ASN to each individual device.

D. Assign the same ASN used by the WAN service provider to the spine devices.

Correct Answer: CD

QUESTION 2

Clos architectures are based on which network topology?
A. ring

B. VLANs

C. hybrid

D. spine and leaf

Correct Answer: D

QUESTION 3

Which two statements are true about IP fabrics? (Choose two.)

A. IP-based applications do not require an overlay network to maintain connectivity.

B. Applications that require security needs an overlay to provide the security.

C. Applications that require Layer 2 adjacencies require an overlay network to maintain connectivity.
D. IP fabrics can natively support both Layer 2 and Layer 3 applications.

Correct Answer: CD

QUESTION 4

A customer is using EVPN to maximize their Data Center Interconnect and provide a stretched Layer 2 network to
support VM mobility. What are two benefits in this scenario? (Choose two.)
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A. Load balancing is used across the WAN per flow

B. Layer 2 MAC tables are populated using the control plane
C. Load balancing is used across the WAN per packet

D. Layer 2 MAC tables are populated using the data plane

Correct Answer: AB

QUESTION 5

Click the Exhibit button. You are designing a Layer 2 Ethernet fabric. Your customer wants to know which protocol in
your design will ensure a loop-free topology. Referring to the exhibit, which protocol meets this requirement?

EX4300 EX4300 QFX5100 QFXS5100 EX4300
line card line card Routing Routing  line card

Engine Engine

Rack1l Rack?2 Rack 3 Rack 4 Rack 5

A. STP
B. VCCP
C.BGP
D. EVPN

Correct Answer: B
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